b =2
2013 FFEBEE - 22 5T AN 2R

AR H 447k i Ay 32
AR H A 813
x4 4

# T

I P B SIS eI KRB ZEE 4R
L ARG R AR AR TERL

2. BRMLNGiGE T, TXERE, REF
EIE T -

3v WA FARYRAL B et

N

AL sl

o=

AR L K,

=




— CB/MEL S 4r, 35 6 /MR, 3530 ) AR

>~ W

[ A TR 1) 52 DS U AEL S Y
JIAE S R 4
6. PRI

(@]

(2z)’

Z (15 43) UEMIERG TR AR ;e VO IR T R AR AR

C

=+ 10 73D UEMIPFR A A RS RS SRR B a = 2In 2,

U, (15 73) BeddtA N A7 P s, HCePSRE T 2= 6208l n, . SEE

o

AR e 1y, = Ne
Fo (1549 5 TA A BB S s e, A1 o 3
A5e (15 49) 3 (1 T 0 B A LR 5 177 4 B Ry (R

IR REHT 98 AR 05D o

e Q04D A KT, Hor . ) .
M M

1) 5% MB. CK 1 OK [1),5 5145 %40 51 v 'ﬁc

j‘:’ ’ , ___/‘47,5‘*_ a ¥ /Ai IR N (o]

2) Yl ABC. MNBA (BH3ZIHI) B2 ¥ 40
93N

(R 1

#
-
H
N
=



J\L (20 4 i&k%%ﬂlﬂ’l‘ﬂﬁ?ﬂ@?ﬂ%ﬁﬁ%ﬁ%hw, A P AR SR A

TR IRs)RE

Jus (20 200 M ARAEASK 0 A2 7 ks s a5 BESR M (R BE Al

_ k,a
Es(k)=gs—J0—4J1(coskxacos L +cosk;acos 22a+cos—c0327)

By #aAR
1. AxBxC=(A-C)B—(A-B)C

(N +n)!
Nin!

2' Wl = CI\’;‘Ml =

3. X RRE, PR A
d In(x)
dx

=Inx

[5¢]

(EEmEL) W% B2 L2



	试题封面生成813A.pdf
	813-A new.pdf

